10°

YpaHoBOe cTeK/0 (YellcKme ByCrHbI, COBPEMEHHbIE)
https://dosemap.org

T T T
1 1 1

T
|

_ LaBr3(Ce) $25x25 mm |
norapndmMmnyecknin maclwtab, BbldeT doHa

238 U 235U
i , L

npumecn ¥’Cs

10°

MM

1000

100

0 100 200 300 400 500 600 700 800 900 1000 1100 1200 1300 1400 1500
K3B



oo S © ~ 0
50 =35 D) =
I Q % - o
22 sz N 2
52 3y g m (1ovL)
2L og3 D
s 52
>
e I A
S S
S =
= s
2 \=
e 2
(D)
2
-
@
o
>
(LNl P A -
VLOUL ™~ ®*duwyep/ T'lgez N—
(976 - GZ6) Ngey
(/88 - 088) Nge:
(992 - Bdwyez) Nger
(2yL - mn_c(_vmmv Ngez
(299) SOy,
(8G2) Ngez
(S02) Neey
(G8l) Nggz ==
(eal) N
(891) Nes ez nmw
A@O_\v Dmmm M\..x
—_— (26) Aeux
(£9) Nge; —— S——
“lg (/€ \va Aeux
S E B = :
UINI m ;

200 300 400 500 600 700 800 900 1000 1100 1200 1300 1400 1500
K3B

100



nmn

7x10°

6x10°

5x10°

4x10°

3x10°

2x10°

YpaHOBOe CTEK/]

0 (Yewckue ¢

NVHENHbIN MaclTab, B

DYCUHBbI, COBP

eMEeHHbIE)

https://dosemap.org

LaBrs(Ce) $25x25 mm

biyeT doHa

Z

38U 235U
I/ I

npuM

ecn ®’Cs

20

40

60

80

100

120

140

k3B

160

180

200

220

240

260

280

300



MM

i A~ 8 YpaHoBOe CcTeKS0| (YellCKMe BYCUHbI, COBPEMEHHDbIE)
i QP 0 https://dosemap.org
B (@)
hng < ~ LaBrs(Ce) #25x25 MM
- o? C\P/ g norapndMmnyecknin macitab, BbliveT poHa
g ) —
- = =g Jug 238U 235 v
— 00)
i N > — npumecn °’Cs
o N—’
NS +
b D)
) N\ LO
. O ) &
3 IR o
] N NI
& I D
- < > & =
X G « —
|-,
P U;) -
& ™
(@
<
N—”
: ‘ =P
o | 2 )
)
B N
N—”’
_ \/,.\ >
O
- ™
N N
™~
i 8P
NV
an
B L
] N
® o0)
i 7l LO
o a
| -
X i)
o)
™
i N
10*
| IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII%I
10 20 30 40 20 60 70 80 90 100 MO 120 130 140 150 160 1/0 180 190 200 210 220 230 240 250 260 270 280

K3B




i YpaHoBOe CTeKs0 (YellcKre ByCrHbl, COBpeMekHble) |
https://dosemap.org
B 238 234mp . 1 7
U ( Pa - 766) #¥°U (*MPa - 1001) LaBrs(Ce) $25x25 MM
- 238U (234W Pa = 742) NIMHENHbIN MacluTab, BblYeT QOHa A
[
4000 2381 11 2351
H Ul Ul
- npumecn ¥’Cs -
3000
L
AN
L (@) _
(@
N
- (n -
O
™~
= _ ™ i
= 32!
AN
2000
N ©
i 0 © i
S o))
i | | _
— LO
i 3 N ~ |
~ 8 (O
1000 RRRRE N
& G N
i = i
0 1 1 1 1 1 1 1 | | I | 1 1 1 | 1 1 1 | | I | 1 1 1 | 1 1 1 | | I | 1 1 1 | 1 1 1 | | I | 1 1 1 | 1 1 1 | | I | 1 1 1 | 1 1 1 | | I | 1 1 1 | 1 1 1 | | I | 1 1 1 | 1 1 1 | | I |

350 400 450 500 550 600 650 700 750 800 850 900 950 1000 1050 MO0 M50 1200 1250 1300 1350 1400 1450 1500 1550
K3B



